PART-I

GENERAL INTELLIGENCE AND REASONING

Indicate which figure will best represent the
relationship among Birds, Crows, Eagles :

o O
(A) ®| o
©) @ D)

Neela is now three times as old as her daughter

O

Leela. Ten years back, Neela was five times as old
as Leela. The age of Leelais :
(A) 15 B) 25
(©) 30 (D) 20

Direction 3-7): P, Q, R, S, T, U, V and W sitting

round the circle and are facing the centre

(1) P is second to the right of T who is the
neighbour of R and V

(i) Sisnotthe neighbour of P

@) Vistheneighbour of U

(iv) Qisnotbetween S and W. W is not between
Qand S

Which two of the following are not neighbours :
(A) UV (B) TR
(©) PW (D) SW

Who is the neighbour of W ?
(A) U B) V
€ R D) S

Who is the second right of R?
A) Q B) W
©) S (D) V

Who is in the middle of Sand V ?
A) U (B) R
<€ P D) Q

1.

f=ifed foar & e9—<ar fafsar, wlem den
3T & I AR BT gl HRar &

o O
(A) ®| o
©) @ D)

AT 1o 981 AT | A IO g7 2, 10 Ay
Ugel e, ofiell & i 1 a1 ot | a1 ofier @t

O

I % |
(A) 15 (B) 25
(C) 30 D) 20

fRer 39 7): PLQR,S,T,U,V 3R W U& gq

@ IR AR B D AR & IRD IS B |

() P,TSR A §ORT § ol f& R3IR V&I
TSt B |

(i) S,P Sl &l 2 |

i) V,U P ISR B

(v) Q,STAT WS &g § &f 8 W, QT S
@ 9§ T 2

fFrforRad 5 &1 S A1 g7 T TN @ gl
el 87

(A) UV (B) TR
(C) PW (D) SW
W T e BIF B ?

A U B) V
(©) R D) S
R 3R GART DI 27?

A Q B) W
© S D)V
STANMVSD g § dIF 8 ?
A) U (B) R
© P D) Q
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10.

Who is second to the left of U ?
A) W B) Q
© P D) R

In half hour, the minute hand of clock will rotate

through the angle of :
(A) 75° (B) 60°
(C) 120° (D) 180°

Meera was born on 22nd March 1982. On what
day of the week was she 14 years 7 months and 8
days of age?

(A) Tuesday
(C) Monday

(B) Sunday
(D) Saturday

If 1st October falls on Sunday. What day of the
week will fall on 1st November ?

(A) Tuesday (B) Wednesday

(C) Sunday (D) Monday

Direction (11-17) : In each of the following questions,

11.

12.

13.

14.

15.

1550

select the related letter/word/number from the given
alternatives :

DEVIL: ABSFI: : OTHER : ?
(A) MRFCP (B) RWKHV
(C) LQEBO (D) LRECO

Manipuri : Manipur : : Kathakali : ?

(A) Karnataka (B) Tamilnadu

(C) Kerala (D) Andhra Pradesh
24:60::210:7?

(A) 425 (B) 420

(C) 525 (D) 505

Teacher : Student : : Pontiff: ?
(A) Disciple (B) Follower
(C) Priest (D) Deity

Book : Read : : Picture : ?

(A) Library (B) Buy
(C) See (D) Listen

10.

Ud a1 R &9 & 2
A) W B) Q
© P (D) R

aTy B ¥ P @ qE frad Rl A e
SITQfr?
(A) 75°
(C) 120°

(B) 60°
(D) 180°

HIRT BT ST 22 AT 1982 PI AT AT | AT I
f& WecATs @ I A1 fa7 g8 14 99 7 HEMT SR
8 fa @1 oA?

(A) AR (B) fdaR

(C) AMaR (D) TFaR

g 1 S7acaR DI IfAIR BIAT 7, Al 1 FT=R Bl
ArE BT B a1 faT =m?

(A) TR (B) guar

(C) Xfdar (D) AHAR

fader (11 | 17) : F=liRed 9 wea 7 Ry 7w

I1.

12.

13.

14.

15.

famedl § 9 TEfId @R /e /AT Bl
ERM

DEVIL:ABSFI:: OTHER:?

(A) MRFCP (B) RWKHV
(C) LQEBO (D) LRECO
AR« AOTYR : @ Bl ¢ ?
(A) PICD (B) dfHerrg
(C) v (D) 3T Y9
24:60::210:?

(A) 425 (B) 420

(C) 525 (D) 505

Rrere oA fdem @

(A) Ry (B) srgamd
(C) gy (D) S
foae g : : oy ?

(A) JIPTeTy (B) &I
(C) @& (D) g
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16. ETHNICITY : YTIC INHTE : : HOPEFUL:? 16. ETHNICITY : YTIC INHTE : : HOPEFUL:?

(A) FULEPOH  (B) HOPELUF (A) FULEPOH  (B) HOPELUF
(C) LUFHOPE (D) LUFEPOH (C) LUFHOPE (D) LUFEPOH

17. Swimming: River: : Hiking: ? 17. O=AT: 981 : : TQTS 2
(A) Mountain (B) Road (A) Tdd (B) Is&

(C) Pond (D) Sea (C) dretrd (D) "4«

Direction (18-25) : In each of the following question,  fA<er (18 & 25) : f=falag weai # fRw WU
find the odd word/letters/number pair from the el 4 ¥ v dw@r/ R /S=&r g™
given alternatives : ﬁﬁl'i’ |

18. 18.

(A) 1000 (B) 625 (A) 1000 (B) 625
(C) 64 (D) 512 (C) 64 (D) 512

19. 19.

(A) 10 (B) 24 (A) 10 (B) 24
(C) 64 D) 120 (C) 64 D) 120

20. 20.

(A) CP (B) FR (A) CP (B) FR
(©) DQ (D) BO (©) DQ (D) BO

21. 21.

(A) Publisher (B) Author (A) UHTIH (B) o&E®
(C) Novelist (D) Poet (C) STRNHR (D) &fd

22. 22.

(A) WTQN (B) NKHE (A) WTQN (B) NKHE
(C) MIDA (D) KHEB (C) MIDA (D) KHEB

23. 23.

(A) King:Queen (B) Prince: Princess (A) XTSI : RTT (B) ISTHAR : RISTHAN]

(C) Witch: Vampire (D) Hero : Heroine (C) S : fUema (D) IfA=rar « 3rf==
24. 24.

(A) Radish (B) Carrot (A) TN (B) o

(C) Potato (D) Beetroot (C) 3y (D) ghax
25. 25.

(A) 124-164  (B) 14 - 54 (A) 124-164  (B) 14 - 54

(C) 212-252 (D) 256 - 286 (C) 212-252 (D) 256 - 286
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Directions (26-27) : Arrange the following words
according to the English dictionary :

26. 1. Voyage 2. Voice
3. Vocation 4. Volume
(A) 2,4,3,1 B) 3,2,4,1
©) 2,3,4,1 D) 3,4,2,1

27. 1. Beet 2. Beer
3. Being 4. Been
(A) 4,2,1,3 B) 4,2,3,1
©) 1,2,3,4 (D) 4,3,2,1

frder (26 | 27) : f=faRad west &1 3fUSH
& DI B AR HATd :

26. 1. Voyage 2. Voice
3. Vocation 4. Volume
A) 2,4,3,1 B) 3,2,4,1
©) 2,3,4,1 D) 3,4,2,1
27. 1. Beet 2. Beer
3. Being 4. Been
A) 4,2,1,3 B) 4,2,3,1
©) 1,2,3,4 (D) 4,3,2,1

Directions (28-35) : In the following questions a series
is given with one item missing choose the correct
alternative from the given ones that will complete

fAder (28 9 35) : ffoRaa weAl # g
a7 8, fd e ue g © | fau Ty fadent §
A g8 Hel fdbed g Sl 31 Bl GR1 o |

the series :

28. FLA, GMB, HNC,IOD, ?

(A) OTK (B) NSD

(C) JPE (D) TOE
29. 135,226,353, 2,739

(A) 722 (B) 522

(C) 622 (D) 632
30. 4,7,13,22, ? ,49

(A) 34 (B) 45

(C) 52 (D) 64
31. ACE,BDF,CEG, _? .

(A) DEF (B) DFH

(C) DEH (D) DFE
32. 7,12, 22, 2,82, 162

(A) 42 (B) 32

(C) 52 D) 62
33. 2,3,5,9,17, 2 .

(A) 33 (B) 34

(C) 27 D) 30
34. CAE, HFJ, MKO, RPT, ? .

(A) WUY (B) VTY

(C) VUZ (D) WUZ

1550

28. FLA, GMB, HNC, IOD, ?

(A) OTK (B) NSD

(C) JPE (D) TOE
29. 135,226,353, 2,739

(A) 722 (B) 522

(C) 622 (D) 632
30. 4,7,13,22, ? ,49

(A) 34 B) 45

(C) 52 (D) 64
31. ACE,BDF,CEG, _? .

(A) DEF (B) DFH

(C) DEH (D) DFE
32. 7,12, 22, 2 ,82,162

(A) 42 (B) 32

(C) 52 D) 62
33. 2,3,5,9,17, 2 .

(A) 33 (B) 34

(C) 27 D) 30
34. CAE, HFJ, MKO, RPT, ? .

(A) WUY (B) VTY

(C) VUZ (D) WUZ
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35.

36.

37.

38.

39.

40.

41.

42.

43.

1550

12,26,54, 2 .
(A) 223 B) 110
(C) 220 (D) 108

IfA=1,BAD="7, then HAT=?
(A) 8 B) 10
(C) 29 D) 19

IfB=4,D=8and C = 6, then DOG = ?
(A) 46 B) 52
(C) 56 (D) 60

IfD=2and F =3, then BAG=?
(A) 10 (B) 20
<€ 5 D) 6

IfFAITH is coded as 82731, HABIT is coded as
12573 and HEALTH is coded as 192431, how

can BELIEF be coded as ?
(A) 594598 (B) 594789
(C) 594978 (D) 594798

If NATIONAL can be written as LNAANTOI,
how can DOMESTIC be written?

(A) CDIOMTES (B) CDIOTMSE

(C) CTSIMODE (D) CSITEMOD

In a class Sohan’s rank is 17th from the top and
28th from the bottom. How many students are there
inthe class ?
(A) 45
(C) 44

(B) 40
D) 41

Varun said, “That boy is the grandson of my
Mother’s husband. I have no brother and sister,”
How is the boy related with Varun?

(A) Uncle (B) Son

(C) Nephew (D) Cousin

Which of the following can not be formed by word
MERCHANDISE :
(A) MECH

(C) CHARM

(B) DICE
(D) CHANGE

35.

36.

37.

38.

39.

40.

41.

43.

12,26,54, 2 .

(A) 223 (B) 110

(C) 220 (D) 108

gfe A=1,BAD =78l al HAT=?

(A) 8
(C) 29

(B) 10
D) 19

Ife B=4,D=8 da1 C=6, 8 I DOG =?
(A) 46 (B) 52
(C) 56 (D) 60

gfe D=2d21 F=3, 8 d BAG=?
(A) 10 (B) 20
(R (D) 6

¥l @ 9T H FAITH &I 82731, HABIT &I
12573 9 HEALTH &7 forar Sy @1, 192431
P A G Wl § BELIEF &1 @1 forar
SITQT?

(A) 594598
(C) 594978

(B) 594789
(D) 594798

afg fedl e “oT 4 NATIONAL &1
LNAANTOI for@r Sy df Il g 9T #
DOMESTIC &1 &1 ferar Sigan?

(A) CDIOMTES (B) CDIOTMSE

(C) CTSIMODE (D) CSITEMOD

TP HelT H A8 &I HH HUR A 17 df q2IT A
¥ 29 df 2| I HeT H FA fbad B 8?
(A) 45 (B) 40

(C) 44 (D) 41

TR 7 HET fh I8 TSHT W AT & Ul BT
T & TRT IS 98 9T 984 8! & 9ad a8

TSHT TRV W Y ARG 87
(A) =rar (B) 9e1
(C) ¥eireT (D) FRT 4TS

f=ferRad § ®F—Aa1 MERCHANDISE 318 3
T 91T ST FhdT 8 ?

(A) MECH (B) DICE

(C) CHARM (D) CHANGE
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44,

45.

Out of 1865 people, 660 can speak English and
1305 can speak Marathi. But 120 person cannot
speak either language. Then how many can speak

both languages :
(A) 220 (B) 120
(C) 1085 (D) 440

From the given alternative select the word which
can be formed using the letters given in the word.
ABOMINABLE :
(A) BOWEL
(C) BLAND

(B) METAL
(D) BANAL

Directions (46-47) : In the following questions some

46.

47.

equation are solved on the basis of a certain
system. Find the correct answer for the unsolved
equation on that basis :

1228 = 12 and 337 = 16, then 569 = ?
(A) 39 (B) 20
(C) 29 D) 36

If3X7X8=837
2X4X5=524,thend X3X7="?
(A) 743 (B) 734

(C) 84 (D) 214

Directions (48-50) : In the following questions, select

48.

49.

50.

the missing number from given response :

12 6 8
4 4 9

3 7 4

51 31 2
(A) 21 (B) 42
(C) 76 D) 86
3 18 6

5 2 4

8 40 5

(A) 40 (B) 22
(C) 24 (D) 20
8 2 6

2 4 2

5 6 8

80 48 240
(A) 4 B) 10
(C) 5 (D) 20

1550

44,

45.

1865 T H W, 660 3G dlcf Hdhd 8, 1305
TRIST 9Icd Fhd ©, 120 ANT IS WINT A8l I
Johd 8, dI fbd o <91 99T 97l Hhd 87
(A) 220 (B) 120
(C) 1085 (D) 440

frfeiRad ey gu fddey § 4 I9 s &I
T ST ABOMINABLE & 31&Ri | §9I1T T
HDHAT &7

(A) BOWEL
(C) BLAND

(B) METAL
(D) BANAL

et (46 | 47) : FFAfaRaT ueAl 4 |o TR0

46.

47.

FT B {B TN UgM ¥ B T T [/
agfd W gel 78l B 77 FHISROT BT SR < |

gfe 228 = 12.der 337 = 16, @& 569 =2
(A) 39 (B) 20
(C) 29 (D) 36

Ifa 3 X 7X 8=837
2X4X5=524,q9 4X3X7=2
(A) 743 (B) 734

(C) 84 (D) 214

feer (48 & 50) : f=faRaa el # flu T

48.

49.

50.

famedl # & g d@m 9| wY |

12 6 8
4 4 9

3 7 4

51 31 2
A) 21 (B) 42
(C) 76 (D) 86
3 18 6

5 ? 4

8 40 5

(A) 40 B) 22
(C) 24 (D) 20
8 2 6

2 4 2

5 6 8

80 48 240
(A) 4 (B) 10
€) 5 (D) 20
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51.

52.

53.

54.

55.

56.

57.

58.

1550

PART-II

GENERAL AWARENESS & PROFESSIONAL KNOWLEDGE

How many types of wire obstacle are there?
(A) 2 B) 3
(€) 4 D) 5

In which CRPF Form leave, leave/duty certificate
isissued?

(A) CRP18
(C) CRP20

(B) CRP 24
(D) CRP 28

How many times GPF subscription can be
increased/decreased in a year.
(A) 173 B) 2/1
©) 22 (D) 2/4

Which of following terms denotes the “Toughening
of body” as its major objectives-

(A) Play (B) Drill
(C) WT (D) PT
Sri Guru Gobind Singh was

(A) The 10th Guru of the Sikhs

(B) Founder of Khalsa, the inner council of the
Sikhs in 1699

(C) Author of Dasam Granth

(D) Alltheabove

Who has been awarded ‘Scroll of Honor’ by
Government of India to promote cashless
transactions?

(A) ManishJadon (B) Khusbu Gupta

(C) Surbhi Kapoor (D) Gaurav Goya

What is the sequence of sitting position of Lathi
party while marching from vehicle?

(A) Middle (B) Last

(C) First (D) Anywhere

Revision petition can be made against the
punishment of departmental enquiry within. . .days?
(A) 15days (B) 30days
(C) 45 days (D) 60 days

51.

52.

53.

54.

55.

56.

57.

58.

TR JTeRhd B o Famn?

(A) 2 B) 3

©) 4 D) 5

ged /RYE W oM @1y uF feE ey
B ¥ WR & o 2?

(A) BRY 18 (B) BRY 24

(C) BRY 20 (D) HRY 28

Jfowy A 9 9fow Y e § e aof 4
foa TR el /uerll W1 dadr 27

(A) 1/3 B) 2/1

(C) 22 (D) 2/4

frefafed & & o9 TRRS worgh &1 TE
UCH B
(A) ST
(C) S&g 2l

T& e g o —

) feal & @ TE

(B) 1699 H RIRd @ 3raR® IRYS el &
GEJIEES

(C) T T & <afdar

(D) SwgFm wf

I AF-SF B 9g1a] 1 b Iy 9Rd
WeR + o) “w@id % IR ye= fHan
Bi—

B) g1
(D) W.1.

(A) Y SRA (B) gAY T

) gt dg% (D) TRE AT

T ¥ A BRd W TS U B S @l
BH a9 |

(A) 99 (B) 3MRer ¥

(C) Ugd (D) B8 i

e e fean e & w4 @
R § B o god 8§ ?

(A) 15 fat & B) 30 fa= #

(C) 45 fa=t 4 (D) 60 feat o
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59.

60.

61.

62.

63.

64.

65.

66.

1550

An orderly room register is maintained in CRPF
in form No.?

(A) Form No. 16
(C) Form No. 08

(B) Form No. 46
(D) Form No. 15A

No members of the force will visit married lines
except than those who have been allotted a quarter
without permission of

(A) DC (Adm)

(B) Comdt.

(C) Subedar Major.

(D) SI(Hygeine & Sanitation)

Shuttle run test measures —
(A) Explosive strength
(B) Speed endurance

(C) Agility

(D) Speed

Fatigue comes during training due to—
(A) Lacticacid (B) Adrenal
(C) CO, (D) PH factor.

How many Numbers of Trained solder Table Cord
are there-
(A) 5
(©) 8

(B) 7
(D) 9

MR claim can be preferred in how many days from
the completion of treatment?

(A) 01 month (B) 03 months

(C) 45 days (D) None ofthe above

As per latest orders the Firefighting practice in duty

Bn be carried out once in?
(A) 07 Days (B) Monthly
(C) 15Days (D) None the above

Ecology deals with

(A) Birds

(B) Cell formation

(C) Relation between organisms and their
environment

(D) Tissues

59.

60.

61.

62.

63.

64.

65.

66.

ofRogoTe # arell ®ar Ut &1 fobg dfore
T ¥ Yg-—x@E fear o 87

(A) ®H Ho—16 (B) BIH W0—46

(C) ®IF ¥0—08 (D) B ¥0—15 U

g I BT GG fqarfead aEd § A A foa
P AN | YT TR GHAT § 7

(A) SU HHAVST (TSH)

(B) ®HVST

(C) FIR R

(D) 3U fiegs EERH e dfey)

e ¥ TIE $T ANSUE g
(A) fowpics wogd)

(B) W Ageferar

(©) wff

®) wfa

R & IRM UBN b BRI 2

(A) dfcsd o B) T W&
(C) ®BE9 SRdfFREsS (D) YL.Ud. OcH

g-e WlcoR <qdl die fobad YPR & &
) 5 ®) 7
©) 8 D) 9

SUAR @& wHid ¥ feaw o & fafecn
gfogfd <rar & Rgar q aRl 27

(A) 01 FENT (B) 03 TEM

(C) 45 fad (D) SWIFd § § Py &

TIGH UMl & AR BRR BT et
B IR el gerfem # foaq Al w
g =fRe?

(A) o7 fed (B) ATF®

(C) 15 f&a (D) SWRIT H | Py &l
Ritufoe deg & -

(A) Tefl

(B) BIRM@T T3

(C) ol &k amaraRer & § Gy
(D) P!
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67.

68.

69.

70.

71.

72.

73.

74.

1550

How many total firing practs (including day & night)
are there in ARCEF for trained soldier firing from
9MM Carbine?
(A) 08
(C) 06

(B) 07
(D) 05

How many types of sights are being used in X-95
rifle?

(A) 4
©) 2

B) 3
D) 5

After how many paces hand will come down in the
Salute of Left or Right?

(A) 4 B) 6

©) 5 (D) 7

The ozone layer restricts

(A) Visiblelight

(B) Infrared radiation

(C) X-rays and gamma rays
(D) Ultraviolet radiation

Filaria is caused by
(A) Bacteria
(C) Protozoa

(B) Mosquito
(D) Virus

Newly raised CRPF Mahila Bn inducted in LWE
Area for Anti Naxal operation.
(A) 88 (B) 135
(C) 232 (D) 233

Which CRPF Training Institution awarded with
Home minister Cup for best Training Centre for
recruits.

(A) RTC Neemach (B) RTCRajgir

(C) RTCAmethi (D) CIAT Silchar

Latest CIAT School of CRPF established at which

place.
(A) Latur (B) Chittoor
(C) Belgam (D) Bijapur

67.

68.

69.

70.

71.

72.

73.

74.

affe aicAR) # g+ Aeor @ folw 9 W,
PRAZA | Fa (- frarex) wraR
ifdcd w T ? -

(A) 08 (B) 07

(C) 06 (D) 05

X-95 XEHh ¥ fha UBR B AEcd TRH
@ Wl 872
(A) 4
€) 2

B) 3
D) 5

qU T TR @ FRe A b B @ 9]
g A g ?
(A) 4
©) 5

(B) 6
(D) 7

Ao wRa wr it wd § -
(A) T JIRI

(B) draxaq fafe=or

(C) Tgg— 3R Tmar fobvon)

(D) RIS fafezor

BT fbad BRI BT & -
(A) dfxcar (B) HTBR
(C) greisa (D) 9139

BRYTA # T Todd Sifwed & forg el
SYAIG &7 | U& % Ao qeifordd d mHd
fhar € 9® &

(A) 88 §CTerdd  (B) 135 S elfeidd

(C) 232 SeIfel@d (D) 233 SeIfaidd

»RyTa @ 59 e o= 99 |afcw
TTee IR & fog TE WA $U gRT wRIta
fooar T 23—

(A) IR 99 (B) RSN IR

(€) IR wd (D) Frag. v famx

aRyga ¥ TdTaq Hag.udl. wa fow
g wenfid fear w87

(A) AR B) forR
(C) deig (D) FATYR
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75.

76.

77.

78.

79.

80.

81.

1550

Which Central Team of CRPF won the Gold medal
in AIPDM-2016 for the first time in the history of
CRPF?

(A) Volleyball
(C) Hockey

(B) Basketball
(D) Rowing

7™ National Conference of Women in Police was
organized the first time in CRPF, the venue was :-
(A) ISA M/Abu

(B) Vigyan Bhawan Delhi

(C) CRPF Dte. General, New Delhi

(D) CRPF Academy Kadarpur

Name of CRPF Commandant who is martyred
on 15 Aug’2016 in Srinagar?

(A) Pravin Kumar

(B) Pramod Kumar

(C) Pravesh Chand

(D) Piyush Chand

‘Which of the following activities measures dynamic
strength —

(A) Vertical jump

(B) Short distance run

(C) Forwardroll

(D) Rope climbing

What does BMI measures —
(A) Flexibility (B) Muscles weight
(C) Body fat (D) Strength

Which Standing order is applicable for Annual
Range classification firing instructions in CRPF?
(A) S O-06/2008

(B) S O-09/2011

(C) SO-10/2012

(D) S O-01/201

Mistake occurred because of Trigger operation
is called?

(A) Flinch
(C) Buck

(B) Jerk
(D) Allofthese

75.

76.

77.

78.

79.

80.

81.

»RYTd @ sfoe@ o aRyed & &9 dam
Yd & 7 TSl IR T3S NELTH—2016 H
WU USH i 87
(A) arefiard

(C) Bi®)

(B) ST¥PCaTd
(D) 9E |

7 & U ARar gfom WdT sRkyaa 4
T IR 6 W W i fear e
(A) g3, ASCT 3T

B) fagm™ 9av feeel

(C) aRyga "I

(D) BRYTA FHEH BRI

HRATE FHIST O 15 FR 2016 AR
¥ v g & AW § |

(A) YT §AR

B) WA FAR

(C) WY dg

(D) Wy T

Tl wfte &1 gY@ AT g
(A) TT FHEl

(B) B e

(C) WRaS e

(D) Y =G

BMI &I AIYSUS &~
INEGEIGIRE (B) AUl qwie
(C) sMIR® T|r (D) AWl

HOR0YOTH # IS AN FTHvoT GRIRT
¥ e fewm-fady fea wong ey #§ § ?
(A) I 3MM0 06 /2008

(B) ¥I§ M0 09 /2011
(C) XT3 3M0 10 /2012

(D) %I 3MM0 01,/2016

foR SffeE & 89 Jrell T dEawl 8 ?
(A) foeg B) P
(C) 9% (D) Sugerd 4T
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82.

83.

84.

85.

86.

87.

88.

1550

CRPF sponsored two players of J&K got
opportunity to play which game at the International
level

(A) Badminton
(C) Cricket

(B) Football
(D) Boxing

Which exercise is beneficial to rectify the mistake
of sight alignment by a firer?

(A) Aimingbox exercise

(B) Aiming corrector exercise

(C) Breathing control exercise

(D) Tindiscexercise

Which drill is adopted by CRPF on firing range?
(A) Companydrill (B) Disciplinedrill
(C) AtoGdrill (D) Fire arm safety drill

When to zero the weapon?

(A) When the weapon newly issued

(B) After handing/taking over of weapon on
transfer

(C) After major repair

(D) Allofthese

How many type of grenades are being fired by
UBGL
(A) 2
©) 4

B) 3
D) 7

Coral reefs in India can be found in
(A) the coast of Orissa

(B) Waltair

(C) Rameshwaram

(D) Trivandrum

Film and TV Institute of India is located at
(A) Pune (Maharashtra)

(B) Rajkot (Gujarat)

(C) Pimpri (Maharashtra)

(D) Perambur (Tamilnadu)
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82.

&3.

84.

&5.

86.

87.

88.

pRYTa 7 TH-FTR T 02 fEenfeai st

ITNENY &R R 59 T ¥ Hier g yrifor
foar T ?

(A) dsfieq (B) Geard

(C) frpe (D) JFD TSl

HRWR NI ¥WIEC YaRTE< @I Tadl ® g3
B D 0 DY W TRRAES P ofend & 7
(A) TRHT §fR TFERETE S

(B) THT #RTeX THRIRETSO

©) fafeT Feid veRaET

(D) TH f$h TS

».RIIT ERT BRIRT 9 | @9 A g
JUTE ST B ?

A) & fga (B) FImEa fgd

C) AR Gfgd (D) BRR oW grem fgd

I BT SN $9 fhar S 7

(A) ¥ T 49 9 fHar omar @
(B) TRIGR W U9 @ <1 4 o & 915
(C) W@ WFET & q15

(D) Swfad &I

UBGL & gRT foe® UoR & U9 BRR
S 27
A) 2
(C) 4

B) 3
(D) 7

ARG § T B e Fel I o qE § -
(A) Nfsar & de

(B) dTeeaR

(C) IR

(D) fravgw

AR fhed g Selifawa WYermd &gl ferd
Bi—

(A) g9 (FERTS)

(B) WWdIc (TToRT)

(C) Uil (HERTSE)

(D) WY (qfHerrg)
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89.

90.

91.

92.

93.

94.

1550

Gravity setting chambers are used in industriesto ~ 8§9.

remove

(A) SO,

(B) NO,

(C) Suspended particulate matter
(D) CoO,

What is scoring pattern prescribed in ARCF for ~ 90.

trained soldier firing with INSAS Rifle?

(A) Marksman-74,1%Class-60 & Std Shot-46

(B) Marksman-86,1%Class-72 & Std Shot-58.
(C) Marksman-98,1%Class-79 & Std Shot-65.
(D) Marksman-106,1%Class-87 & Std Shot-73.

What is the life of peak cap for SOs? 91.
(A) 06 years (B) 02 years
(C) 03 years (D) 04 years

DA is admissible for absence from HQ for not less 92.

than
(A) 6hrs (B) 9hrs
(C) 8hrs (D) 10 hrs

Within what distance no person is allowedtodo  93.

any canvassing in and around the polling station
(A) 200 Yards (B) 100 Yards
(C) 150 Yards (D) 250 Yards

Response time of RAF to Law and Order situation ~ 94.

within the same station when it is on call, is
(A) 30 minutes for move of all Coys.

(B) 45 minutes for move of all Coys.

(C) 60 minute for move of all Coys.

(D) 15 minutes of move of all Coys.
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feraal e @ fag Sl & [waErey
AR BT SYANT fhar Srar € 7

(A) B} SIS

(B) TIECIVA SIS

(€) fraiffa @or " #

(D) BTHT STSATFATS S

affe deant § 39 UEha BRINT & foU

fehiRa snide #, uramal &1 o a1 fafexor

W g

(A) FTEART-74, B FATH—60 TAT WISS
3Tfc—46

(B) ATHTHT—86,B%C FoG—72 T WISS
3c—58

(C) ATGTHT—98, B FoIG—79 AT LIS
3c—65

(D) HT4HHT—106,H FA—87 TAT LIS
Ife-73

v Aty & fav fi—-ou &1 dEw
o 2?
(A) 06 T
(C) 03 g9

(B) 02 qH
(D) 04 T9

I e & foy oA wu fFfoale ww
o fay qeaes ¥ oquRed @ ' dfe
Wl 9T BN |

(A) 6 S (B) 9 He
(C) 8 ©e (D) 10 e
foa & N FAH D= d WK IR AR SR

fodl < faver & v & guefq A @Y
AR T & W T ?

(A) 200 TS (B) 100 T

(C) 150 o (D) 250 T

fodl RIM W $FF @ @1 & Tl 59
JROYOYB0 §RT BRATS IR B G999 39
AR ST B 7

(A) Tt FFE HT 30 Pee § S

(B) ¥l &= &1 45 fFe ¥ e

(C) Wt 7 HT 60 fiFe § Harem

(D) Wl BT BT 15 fFe § Harem
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95.

96.

97.

98.

Vehicle to Vehicle distance in convoy movement
should be Meter in hilly and
meter in plain area.

(A) 20 to 30 meter, 300 to 500 meter
(B) 50to 100 meter, 100 to 200 meter
(C) 500to 01 Km, 01 Kmto 02 Km
(D) 01 to 02 Km, 04 Km to 05 Km.

Which state government has recently declared 50%
reservation in judicial services for OBCs, SCs, STs
and EBCs?
(A) Odisha
(C) Bihar

(B) Madhya Pradesh
(D) Assam

Garampani sanctuary is located at
(A) Junagarh, Gujarat

(B) Diphu, Assam

(C) Kohima, Nagaland

(D) Gangtok, Sikkim

When is Kit classification carried out?
(A) Atthetime of pension

(B) Atthetime of tfr

(C) Lossofanyitem

(D) None of them

99. For Dog Squad, how many weeks of trg are there
for Dog and its handler
(A) 24 (B) 36
(©) 40 (D) 46
100. What is the area of jurisdiction of RAF unit?
(A) 250 Km (B) 350 Km
(C) 300 Km (D) 325Km
1550

95.

96.

97.

98.

99.

100.

15

PIbAT FaeM o 9% dI e | g UgIel
a3 # IR gHad a3 H
g =Ry |

(A) 20 ¥ 30 HIex, 300 ¥ 500 Hex
(B) 50 ¥ 100 HeX, 100 ¥ 200 Hiex
(C) 500 ¥ o1 fofo, o1 fvdo ¥ 02 frho
(D) 01 ¥ 02 folo, 04 fdlo & 05 fdo

T B Y P T WeAR | e dar |

= fUesr oW, gl W, sggR[ oH
oifer der e Wy @ fee o & forw s50%

aReT @ A 2 -
(A) anfsem (B) AU Y-
€) faEr (D) 9H

TRAUF FMIRY HEl R 8 -
(A) TS (ToRm)

(B) W%, (3r)

(C) FIfedr ([ATes)

(D) Tere (fafyws)

fe FonfiafbaIs &9 fHar omar 27
(A) TH TN R

ST WA & oIy SFT U9 gSoR & HRIE0
fooae w@E @1 g
(A) 24
(C) 40

(B) 36
(D) 46

JROVOTH §Sl0 BT B &= foba-m 87

(A) 250 fo # (B) 350 f& i
(C) 300 f& N  (D)325 f& #
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101.

102.

103.

104.

105.

106.

107.

1550

PART-IIT
NUMERICAL ABILITY

What is the smallest number to be subtracted from
549160 in order to make a perfect square?

(A) 79 (B) 81

(C) 80 D) 1

The average of five consecutive even numbers is
26. Find the smallest of them?

(A) 20 B) 22

(C) 24 (D) 28

The average of 11 numbers is 60. If the average of
first six numbers is 58 and that of last six is 63, find
the sixth number :
(A) 60
(©) 72

(B) 66
(D) 78

The average age of 36 persons in a group is 14
years. When an extra person’s age is included to it,
the average increases by one. What is the extra
person’s age in years?
(A) 41
(©) 49

B) 47
(D) 51

A driver travels to a place 150 km away at an
average speed of 50 km/hr and return at
30 km/hr. His average speed for the whole journey
inkm/hris:

(A) 33.5km/hr
(C) 35km/hr

(B) 37.5km/hr
(D) 37km/hr

50 is divided into two parts such that the sum of

1
their reciprocals is g find largest part?

(B) 20
(D) 40

(A) 10
(C) 30

Present ages of Mohan and Sohan are in the ratio
of 5 : 4 respectively. Three years hence, the ratio of
their ages will become 11 : 9 respectively. What is
Mohan’s present age in years ?

(A) 30 B) 24

©) 27 (D) 40

101.

102.

103.

104.

105.

106.

107.

549160 # & 98 BICI A BT ®IF A F&@H
"erll SY difd a8 qoi a7 99 om:

(A) 79 (B) 81

(C) 80 D) 1

Uil SR < RT3 26 B, 1 S5
I T BT GAT 31T BN |
(A) 20 B) 22
(C) 24 D) 28

11 Gl BT AT 60 B | IX UUH 6 Bl
AT 58 TAT 3Yf<TH 6 BT AT 63 &I I, Bl
TR /T 8?
(A) 60
(C) 72

(B) 66
(D) 78

Bl A9 & 36 AR &I AT Y 14 aY &
e H U AR 3T 3 & 918 A 1
H 9 Ol & | A1 Y SRS AGH Bl 1R
¥ & a7 87
(A) 41
(©) 49

B) 47
(D) 51

U Ireddh 150 fhdl b g 50 fb#l /BT &l
AT ATl | T BT © AT 30 fhHT /EeT Bl
NI Tl W I8 aT9d 3N ST g | ol SHD
|l AT B ST ATel e

(A) 335 fBHI /ger  (B) 37.5 fdHI /EaT
(C) 35 fHI /ger (D) 37 fbHl /&er

50 DT &1 YT H 39 YbR del SrdT & {6 S99

1
GTHH BT ARTH g%\r, I gST 91T 9d1d?

(B) 20
(D) 40

(A) 10
(C) 30

Aigd AT AIET Bl gIHM AT BT U
5:4 %8| 04 ¥ & 918 9D AR BT AU
11 : 9 B SIQIT| QI HIg BT aRIAF 3MY FT
27

(A) 30
(C) 27

(B) 24
(D) 40
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108. Sushil’s age after 15 years will be 5 times his age
5 years back. What is the present age of Sushil?
(A) 15 (B) 20
©) 10 (D) 25
109. The Sum of ages of a father and his son is 45 years.
Five years ago, the product of their ages was 34.
The age ofthe son is :
(A) 6 years (B) 7 years
(C) 8years (D) 9 years
110. In 10 years, x will be twice as old as y was 10
years ago. If x is now 9 years older than y the
present age of y is :
(A) 39 years (B) 29 years
(C) 19 years (D) 21 years
\3/66
111. Whatis the value of —5— 7
6 "XV6
1
(A) 6 ®)
© 1 D) 0
3X(@8D* 0
112, If —9n X3’ X(27)3 =27, thenn ="?
ol 1
A 3 ®)
1
(©) 0 D) 5
113. Sixty five percent of a number is 21 less than
four-fifth of that number. What is the number?
(A) 120 (B) 160
(C) 140 (D) 180
114. 15% of 600+ 45 % of 280 =72

1550

(A) 216
(C) 126

(B) 236
(D) 246

108.

109.

110.

I11.

112.

113.

114.

15 aY a1g el BT Y IAS 5 qY el Pl
3G 1 5 M 8 STQT Geiel B axid 3A1Y
HIT B?
(A) 15
(C) 10

(B) 20
(D) 25

QT T Y= @ MY BT ANTHS BT 45 99 g,
5 a4 Ugel QM & 3IRY BT [UThel 34 & oI I
HT THM AR T 82
(A) 6 a9
(C) 8 @y

B) 7 a4
(D) 9Ty

10 9T # x BT MY yH 10 9§ & U DI AR
DI AT 81 e, IS oA Hox, y ¥ 9 9y

IS1 2 Al y BT I Mg RIT 27
(A) 39 99 (B) 29 9%
(C) 19 a9 (D) 21 99
9
W BT AT T 27
1
(A) 6 ®) ¢
©) 1 D) 0
3X(81)*
gfe 9" X3° X(27)3 =27, g al n=2?
1 1
(A) 3 B) 7
1
€ 0 D) 7

Wﬂ'@ﬂﬂﬁ%lﬁﬂﬁﬂﬂ@fﬁ%m

21 HY ©, dI AT w7 8?7
(A) 120 (B) 160
(C) 140 (D) 180

600 dT 15% + 280 T 45 % =7

(A) 216 (B) 236
(C) 126 (D) 246
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115.

116.

117.

118.

119.

120.

1550

3
Raman reads g of'a book on one day and r of

the remainder on another day. If there are 30 pages
unread now., how many pages did the book
contain ?
(A) 200
(©) 80

(B) 240
(D) 120

A seller purchased a washing machine for
Rs. 7, 660. After allowing a discount of 12% on its
marked price, he still gains 10% . Find the marked
price of washing machine :

(A) Rs.9575 (B) Rs.9675

(C) Rs. 8246 (D) Rs.9755

A man purchared an article and sold ittobe Bata
profit of 25% and B sold it to C at a loss of 10%
and C paid Rs. 675 for it. For how much did A
purchaseit:

(A) Rs.500
(C) Rs. 600

(B) Rs. 550
(D) Rs. 650

Two trains start from a certain place on two
parallel tracks in the same direction. The speed of
the trains are 45 km/hr and 40 km/hr respectively.
The distance between two trains after 45 minutes
will be:

(A) 3km750m
(C) 2km 750 m

(B) 3km550m
(D) 2km 550 m

If x ! =3, the value of x° —% is:
X X
(A) 30 B) 36
(©) 34 (D) 40
The area of equilateral triangle is 4+/3 square metre.
Its perimeter is :
(A) 14 metre
(B) 12 metre

(C) 6./3 metre
(D) 12./3 metre

18

115.

116.

117.

118.

119.

W1ﬁﬂﬁgwﬁﬁrﬂm%‘,ﬁqw%
9T qAR & edr €, afe 3@ 30 g T8l el
3T 91 2 ol b # el fba g5 o

(A) 200 (B) 240

(€) 80 (D) 120

U faspdr T ImRFT 9 Bl w0 7,660 H
GRS & | 99 3ifhd Hoa W 12% B < &
g W 10% o9 HATCr © | o1 7209 &1 3ifehd

I T 2?
(A) 9575 %0 (B) 9675 0
(C) 82460 (D) 9755 0

A TS U KT RIS PR 25% M IR BT 99
TAT 8, B, C®I 10% 8H W 99 <1 &, C Bl
3Ad oY 675 ®UIT 4T Usdl © | dF 9ai fo A
39 fhas # wReT orr?
(A) 500 %0
(C) 600 %0

(B) 550 %0
(D) 650 %0

ql o YHMNR ¢b R Uh & faem § U &
g A =T UR™ &Rl 21 27 @ TR 45
fdY /gier ger 40 fHHY /€t paer B o 45
e & 918 IFT YT & drE B g R/
BIIT?

(A) 3fEHT 7509 (B) 3 fd#r 550 #

(C) 2f&HI 750 %1 (D) 2 fd#1 550 #1

A x-© =3 B - B A R
X X

(A) 30 (B) 36

(C) 34 (D) 40

120. FHag ST @1 &% 4,3 TR B,

SHHT aRT B
(A) 14 Hiex
(B) 12 #HIex

(C) 64/3 HIcx
(D) 12,/3 #Iex
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121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

1550

The unit digit in the product
(284x618x 717 x 563) ?

(A) 2 B) 3

©) 4 D) 5

What is the unit dight of (7°°-3%) x 51 ?
(A) 0 (B) 4
©) o D) 7

What is the unit digit of (2157) "4?
(A) 3 B) 6
€ 7 D) 9

If (64)*-(36)* = 10 X x, then x = ?
(A) 140 (B) 240
(C) 360 D) 280

If the product 4864 X 9 x 2 is divisible by 12, the
value of x is :
(A) 2
©) 5

B) 1
(D) 6

If x and y are odd numbers, then which of the

following is even?
(A) x+y+1 B) xy+1
(©) xy+2 (D) xy

The largest 5-digit number exactly divisible by 91
is:

(A) 99981
(C) 99918

(B) 99999
(D) 99971

What least number must be subtracted from 13602,
so that the remainder is divisible by 877

(A) 29 (B) 31
(©) 30 D) 37
A+6>+8+ ... +20%) =2
(A) 1536 B) 1540
(C) 1150 (D) 1140

How many natural numbers are there between 17
and 100 which are exactly divisible by 6 ?

A) 12 B) 13

©) 14 (D) 15

121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

(284 x 618 x 717 X 563) @ UFHel HI ThIg
3P

A) 2 B) 3
©) 4 D) 5
(7%5-3%8) x 51 T ShIg b T BEIT?
A) 0 B) 4
©) 6 (D) 7

(2157) 75 BT SHIS 3k AT BIIT?
(A) 3 B) 6
©) 7 D) 9

afe (64)-(362=10X x, & @I, x="2
(A) 140 (B) 240
(C) 360 (D) 280

If 4864 X 9 x 2 &1 oHGe 129 faford 2,
al x & A4 &
A) 2
©) 5

B) 1
(D) 6

afe x T y favq e g, ar fefaRad #
P T 87
(A) x+y+l
(C) xy+2

B) xy+1
D) xy

U 3T B AIH TS AT ST BT 91 H JUid:
oo &t -
(A) 99981
(C) 99918

(B) 99999
(D) 99971

13602 H & I8 a9 BIST AT HII—4T Tl

ST 6 Awmer 87 ¥ guia: favifora &1 i

(A) 29 (B) 31
(C) 30 (D) 37
AP+6*+8+ ... +20%) =2
(A) 1536 B) 1540
(C) 1150 (D) 1140

17 AT 100 & 419 Hel Tl UThd F&=AT © Sl
f 6 ¥ gora: fifora & ?

A) 12 B) 13

©) 14 (D) 15
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131.

132.

133.

134.

135.

136.

137.

1550

The ratio of two numbers is 3 : 4 and their H.C.F.

i1s 8, theirL.C.M. is :

(A) 96 (B) 108

(C) 48 (D) 64

The LCM. of = .2, % — is:
eLCM.of 7.5, 2,5 is:

oL 1

(A) 36 ® 1365

C) 36 12

(©) D) s

0.517 = 0.00517="?

A) 1 B) 10

(C) 100 (D) None ofthese

0.02 isequalto:

(A) 100 B) 50

o 2 il

© 3 D) 5,

0.009
IfT=O.001, thenx=7?
(A) 90 B) 9
©) 09 D) 5o
The value of () 47 is:
o 47
] bl
© 95 D) 5

b—a
If1.5a=0.04 b, then value of ( j IS :

b+a
15 73
(A) = B) —
o 730 73
© 77 ©) 777

131.

132.

133.

134.

135.

136.

137.

ST G BT AU 3 : 4 &, A ITHT {0 [0
8 & Tl SPI <0 [0 FAT BIIN?

(A) 96 (B) 108
(C) 48 (D) 64
434 9 .
357 qer T BT 20 F0 B :
1
A) 36 (B) 1365
12
(©) 36 D 15
0.517 = 0.00517 =2
(A) 1 (B) 10
(C) 100 (D) 375 ¥ BIs el
s
002 TTATE
(A) 100 (B) 50
2 1
© 3 D) %
Ife @w.om, A x=2
(A) 90 (B) 9
1
©) 0.9 D 5
0.47 ®T 79 SRR ¥
L 47
A 1o ®) 59
o B s
© % D 5
b—a
Ife 1.5a=0.04b, B, o (b j BT A &
+a
N B 73
@A) — ®) —
o 70 73
© = D) 777
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(0.6)* —(0.5)*

38. W isequal to:

(A) 0.1 (B) 0.11
©) 1.1 D) 11
5_6 +Q
If 0 5 , find the valueof ;7 P Q :
L 61
C hid 8
© 7 (D)
If 2al =1, then find the value ofa ?
1+
1+ 4
l1—a
o 3 3
@) 3 ®)
2
© 3 D) 0
P P-3
I Z - T =1, then find the value of P?
A) 4 ®B) 5
©) 6 D) 0
If - : +— 1 +l—4 th ?
Lo ena=
NE 6
(A) 13 B) 19
o 18 24
(© D)

4 4 2b—a
. If —= g ,thenvalue of | = is:

b 7 2b+a
1
@ 1 ® 1
C) 2 >
© ®) 5

(0.6)" —(0.5)"

38. (0.6 1(05) BT {9 S¥6R © -
A) 0.1 B) 0.11
©) 1.1 D) 11
P_6 P2+Q
139.zrﬁfQ 5. g‘rFﬁ szwmﬁ-cma
N Gl
(A) T B) T
9
© 13 D) 8

140, afe 29 | €1 qr a sl WF FeTer?

1+
1+ 9
l-a
3 3
(A) 5 B) 4
2
© 3 D) 0
141. afg §—PT3—1 g1 dl, P &1 719 fAarei?
(A) 4 B) 5
©) 6 D) 0
1 1
142, AR ~ 42t —g B2
3 2 a
S 6
(A) 18 ®) 19
18 24
©) 5 D) 1
4 2b-a
143. af Z:_ g ar (7 TN j @1 99 &
1
A 1 B) 17
5 3
©) D) 7
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144.

145.

146.

147.

148.

149.

150.

1550

If % _4 =4, then find the value ofa ?

6
(A) 120 (B) 100

5 2
©) G (D) 3

1
1 of atanker holds 135 litres of water. What part

of tanker is full if it cantains 300 litres of water?

(A) (B)

Wi O
wmlo |-

© (D)

A cricket team won 3 matches more than they lost.
If a win gives them 2 points and loss (-1) point,
how many matches, in all, have they played if their
score is 257
(A) 19
(©) 20

B) 41
(D) 42

Ifa=1+ /2 and b= 1- /7, find the value of

(a*tb?):
(A) 3 (B) 4
© 5 (D) 6

If x =5, then what is the value of 10 x /5> — 42

(A) 250 (B) 200./5

(C) 100./5 (D) 500
0.0196

If . =0.2,thenx="7?

(A) 0.49 (B) 4.9

(C) 0.049 (D) 0.07

If3x =3y =3zand x +y +z=27,/29, then
X+t 427 s
(A) 87

©) 2429

(B) 84
D) 429

144.

145.

146.

147.

148.

149.

150.

uﬁ%—%=4,ﬁaﬁamnﬁﬁwﬁ?
(A) 120 (B) 100
S 2
© & D) 3
%av—\fa%i AT § 135 ollex g1 ¥edl © | afe

A} H 300 oflex U WRT S ol SR &l
fopaeT WRT WRAT?

(A) B)

©) (D)

W Oo|lwn
N[O |~

U fhbe S Sadl 79 BRAT & S99 3 39
SgTET Siidar &, Ife Siiad IR S 2 3fd dofr
BRA W (-1) 3w Herar 8, a7 9aii & 25 id
g R & [0 9 fha=r 9 Werm grm?
(A) 19 B) 41
(C) 20 (D) 42

gfg a=1+ /o TATb=1- /7, B dT (a’+b?) &I
A4 Tt -
(A) 3
©) 5

B) 4
(D) 6

AfE x=5, B A, 10x,/,° _,2 BT AF T &7

(A) 250 (B) 2005
(C) 10045 (D) 500
Ife O'Oi% =0.2, 8 ql, x=2?
(A) 0.49 B) 4.9
(C) 0.049 (D) 0.07

UfE 3x=3y=3z dA x+y+2z=27,/29 g1l
X+ 420 ?
(A) 87

©) 2429

(B) 84
D) 429
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PART-IV
HINDI

e (157 9 161) : T { A@IfGTEr & T E |

< (151 9 156) : < fAU U IS U | B

151.

152.

153.

154.

155.

156.

1550

BY I & IR FHIfad dred a9 € | 98
famed gfg |

ATfe®
(A) Yds forar am
(B) ol | g1

(C) TP A e aret

(D) S 39 % &I a1d &

$UT

(A) T ¥ ek

(B) <11 fdd BT FEIAl

(C) N 9 wgg

(D) fHN & forv P18 HRI B

Adra

(A) fHN B BT A H I

(B) *fd & a1 # fFafdarse
(€) R FH W @

(D) 3MHAZATT BT 7 BT

fRuer

A RS @Es N g 98

(B) il f&=i @1 gaar 7 &

(C) TI®T PIS UeT 9 =/

(D) ST foo=fl a1d &1 HHAT 7 8/

U

(A) ST Ugq IFY 7 &
(B) S UeT 7 AT B
(C) STt TeT 711 &1
(D) S YeT—forar = &

T
(A) ST ERRIR R A BdT WY

(B) 19 ERAIR &1 81T # T oISl oIy
(C) S ERER erg® &

(D) SN IR #3 Ugd: YA # foram Sy 2

TS ArpIfad H S SUGad e’ BE AT T,

9P Rad &= & g == P
157, B% e, SIRKSI
(A) Sr (B) weTr
(C) detr D) X
158. YT B R oo 2, 3ER S
(A) T9PH (B) y4S
(€) = (D) Tt
159, o P 3T DI BT BT B Ao AT &
(A) sFU (B) 1a=
(C) @rd (D) it
160. g5 T ST ............. BT TS
(A) THarg (B) 3<¥d
(C) @S (D) SR
161, FT H oo TSTT
(A) TSI (B) ofeT
(C) @111 (D) Ugetdr

e (162 ¥ 166) : F=fRa ud® ueH # fv

T 3eg & FEIT oeg BT T+ 9D 9 fau

T fApedi § | IS
162. ufRder
(A) ¥aER (B) ST
(C) drdraxor (D) 3T=eRYT
163. BIE
(A) fa=mT B) faxE
(C) \HaT (D) T
164. 349fif®
(A) Tpfd (B) fcud
(C) oM (D) gRia
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165. eI
(A) &
(C) T

166. aRA

A) g9
(C) fowd=

B) et
D) 3@

(B) waE T
(D) Ear

frder (167 | 171) : F=fIRad y% we # foy
Y Tes | U A b GHR B GAT SAD

H9 fer U fAwent # | Hifv:
167. I®

(A) e |fxr (B) o1 wf

(C) gfg df (D) 3T AR
168. 99T

A) faat | (B) Ior Af

(C) &o9 |91 (D) 3mTfe |f
169. JeMeT

(A) WR | (B) o AT

©) fawt afy (D) 379 9 IS &
170. €OM—=<

(A) o1 Al (B) <ref Af*r

(C) &bo= | (D) IuT |Af
171. sRrT

(A) e |t (B) o AT

(C) o1 | (D) fo=aet afr

e (172 9§ 176) : f=foRad v@® geq § Q@
T Ufdaal @ @R @ 9R awfad 9m feu
MY B | IUYFd ARGT & AT BT FIT DIT:

172. ARg 9 J19 B8 PR O |

INESEE!

(B) AfreerRer Wt

(C) SEiaR yare (D) sRaie

1550

173.

174.

175.

176.

177.

178.

179.

180.

181.

PIb—bAD o AT HTGDHAT ATDTY |
IE WY dR1g R, a7 °91¢ dRI9 | |

(A) e (B) fasr
(C) Pegard (D) oz &R

T Ha—aTeT & ET-ATR T8 |
ST o9 BT S W W sRI-gfA 8 | |

(A) Tard (B) BIM@E
(C) @ ) RERNEGIGH
TSl g9 de g9 aTl |

ST SRT—8RT 1T AT | |

(A) & (B) AcdaTd
(C) oD (D) HIRE™

ATfaTE SUATRIATETE & GART M ¢ |

(A) AT It

(B) U<

(C) TagelR darsiul

(D) gf=TT= ud

T Wral B W1 ol bl § 7
(A) T (B) <&

(C) TIRE (D) 9IRE
™ P e 3T B &7

(A) ?f (B) IR

(C) ur= D) ©:
[qdIS I B /T SIar 87
INBIERS (B) HTR w4
(C) BB ™ (D) dR 9

Hfa R g1 e 9 & afd 8°

(A) HHI (B) wfaa

(C) TR (D) 4R

B BT GIYAH Sooid hal (Herdr 87
(A) Fdg (B) Suf-ug

(C) rHdg (D) Tqd<
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182. B< &I wU ¥ b UbR & BId 27
(A) (B)
(C) IR (D) ®:

183. fh9 B &7 YoM T 3ff~dH g Th—T BIdT
4
(A) TI=T
(C) IRaT

(B) el
(D) rsferar

184. B fHg YR & <5 &7

A) fawm (B) &

(C) 3rgad (D) 3%
185. TIeT fh9 UHR & B< 27

(A) 99 B) fawm

(C) Jre<H (D) 379 ¥ BIg T8l
186. fa=feiRad & @1 w9 B< &1 HH—wT

UL

(A) TTeT (B) HIRaT

(C) durg (D) A il

fa<er (187 9 191) : f=faRad y® og & forw
IqD M 3T ¢ fahedl # ¥ Iugad FHE
Biew:

187. TS
(A) dgRY (B) &€
(C) PR (D) wgsiife
188. qURAR
(A) I (B) dgsy
(©) f&T (D) sgdife
189. Ja—fe=
A) f&1 (B) ag™y
©) = (D) BHIRY
190. g=ar
(A) YT (B) HHURY
C a8
1550( ) TGy D)

191. ARTET
(A) sgsiife (B) g™y
(C) JITI™Tg (D) f&7g

e (192 9§ 196) : f=ferRad U® IR fadme
I IS (RITE) s BT Rk dife |

192.
(A) INIRS B) <fed
(QRISINED (D) iy
193.
(A) e (B) STeA
(C) g (D) drsT
194.
INIEIGRIESI (B) Ao
(C) Raerel (D) 38
195.
(A) gac (B) drferepT
(C) gfed (D) agad
196.
(A) Y (B) @MU
(C) 3y (DEENIED

frer (197 & 200) : 91 # & RS a9 BT TIA
DI

197.
(A) 39 Pl {6 srafed < 8 T4 |
(B) gdg g% 3R 98 3 1|
(C) ga fR—ofR foraar 2|
(D) S 93 B, I=° §HAM al |
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198.

199.

(A) 98 T B MY, IR U WSl < |

(B) & SISU &_AT ARG o, 319 I8 T
208 HIg &l 7 |

(C) fasTa &1 91l fh ®BIRA Tl o1y |

(D) JARIHT I BT M Tb T IR Ql

(A) 9P 3+ Rt #7d &F & 98 5=
o 9 | |

(B) 3= AN ¥ e Amfey Rt AgddgR
o e Al |

(C) &I &l ST {6 &ar &= 8T |

(D) ST ¥ 9gaR Bls W9 T8I ¢ |

200.

(A) foem | 9ea) DI o7 7TE T |

(B) < # faera wrat o wwfa O '
Fifh TROR B U & el o |

(C) i @I A1RY & d=di & Ul 3 a8
®I fifaa = |

(D) IS AHerdr ATed &1 Al URSH BT Bl
TSI

sk sk sk sk sk ke s sk sk s sk s ke sk sk sk s sk s ke sk sk sk s sk s ke sk sk sk sfeosie s ke sk sk sk s sk s ke sk sk sk sfeosie sk sk sk sk sfeosie sk sk sk sk sfeosie sk sk sk sk sfeosie sk sk sk sk sfeosie sk sk sk sk sk skoskosk sk
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PART-1V
ENGLISH

Direction (151-155) : In each of the questions, arrange
the jumbled letter or phrases to make a meaningful

sentence :
151. P. eachyear

Q. twoto five adults

R. getgold

S. onanaverage

(A) PSQR (B) PRSQ

(C) SRQP (D) RSQP
152. P. canbe dangerous

Q. theindiscriminate

R.  without medical supervision

S. and critical use of any drug

(A) PQRS (B) PRQS

(C) QSRP (D) SPQR
153. P. destroyed careers

Q. many

R. hasresulted in

S. drugaddiction

(A) PQSR (B) PRQS

(C) SRQP (D) SPQR
154. P. bymaking swallowing difficutt

Q. asore throat

R. dailylife

S. interferes with

(A) QSRP (B) QPRS

(C) PRQS (D) PQRS
155. P.  America’s

Q. in1961

R.  warlaunched

S. first manned aircrafts

(A) PRQS (B) PQSR

(C) QSRP (D) PSRQ
1550
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Direction (156-160) : In the following questions, a

156.

157.

158.

159.

160.

sentence/ part of sentence is printed underlined.
Below four alternatives are given to the underlined
part of the sentence as (A), (B) and (C) which may
improve the sentence. Choose the correct
alternative. In case no improvement is needed, your
answer is (D):

The student’s interest was raised by an article he
hadread :

(A) quickened (B) multiplied

(C) increased (D) no improvement

This telephone number is not existing:
(A) hasnotexisted (B) hasnotbeen existing
(C) doesnotexist (D) noimprovement

The businessman is respectively connected :
(A) respectfully (B) respectably
(C) receptively (D) noimprovement

I'met him in the way :
(A) onthe way (B) atthe way

(C) duringtheway (D) noimprovement

The boy said that he has read the book :
(A) he has already read

(B) hehad read

(C) he has finished to read

(D) noimprovement

Direction (161-165) : Read the passage carefully and

choose the best answer to each question out of the
four alternatives :

Passage
The advent of electric power was, in a way,
comparable to the successful development and
application of nuclear power in 20th century. In fact,
the historical roots of electricity extend far back into
antiquity. Many men had a hand both in acquring
basic knowledge about the invisible form of power
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and in developing the ways adopted for practical
purpose. One of the vital keys that helped to
unlock the doors leading to the production of
electricity was the discovery, in 1831, of the
principle of electromagnetic induction. This
discovery was made simultaneously by michael
faraday in England and Joshef Henry in the United
States. From it came the generator, sometimes also
called dynamo but several decades of development
had to follow before the first practical dynamos or
generator came into existance in early 1870 :

161. According to the author :

(A) Michael Faraday and Joseph Henry
revolutionized electricity in the USA

(B) Nuclear power and electricity were
discovered in the 20th centery

(C) The discovery of the principle of
electromagnetic induction was not an
important discovery

(D) The advent of electric power is equivalent to
the application of nuclear power in 20th

century

162. Michael Faraday and Josheph Henry discovered :
(A) the application of nuclear power
(B) the genertor
(C) thedynamo
(D) theprinciple of electromagnetic induction

163. Another word for ‘advent’is................... :
(A) discovery (B) arrival
(C) invention (D) constitution

164. The generator was also known as the ........... :
(A) inductor (B) dynamo
(C) inventor (D) conductor

165. Give a synonym for “antiquity”.

(A) Ancient (B) Antipathy
(C) Modemn (D) Uniqueness

1550
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Direction (166-170) : In the following passage some of

166.

167.

168.

169.

170.

the words have been left out. After reading
carefully fill in the blanks with the help of given
alternatives :

Passage
‘CRY-child reliefand you’ 196 an organization that
197 started by seven such 198 and it has been
working 199 1979 to change the lives of 200
children all over India.

(A) was (B) is

(C) are (D) being

(A) has (B) being

(C) was (D) been

(A) friends (B) men

(C) people (D) individuals
(A) since (B) during
(C) for (D) untill

(A) underprivileged (B) privileged
(C) hopeless (D) denuded

Direction (171-175 ) : Fill in the blanks with the

171.

172.

appropriate word, choosing it from options given :

I found it difficult to cope.............. mathematics at
the advanced level :
(A) with (B) of
(C) for (D) up
He was congratulated ..................... receiving his
degree :
(A) on (B) for
(C) by (D) of
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173. Some people quarrel ............ very trivial matters :
(A) over (B) m
(C) for (D) by

174. “Maylknowto...... [am speaking.”
(A) whom (B) who
(C) how (D) where

175. Bear.............. me as [ explain the matter more fully:
(A) in (B) of
(C) with (D) for

Direction (176 -180) : In each sentence below

176.

177.

178.

179.

1550

four words have been printed in separate parts
which are lettered (A), (B), (C) and (D). One of
these parts may be mis spelt or an error in the
context of the sentence the letter of that part is your

answer. [f there is no error, yo
No error.

ur answer is (D). 1.e.

(A) Collect newspaper and magazine having

articles on oil
(B) pullutionand
(C) discuss them.
(D) No error

(A) We can demonstrate the

(B) phenomenon of evaporation and

(C) condensation
(D) No error

(A)
(B)
©
(D)

People dewlling in remo
suffer a lot because of

No error

(A)
(B)
©)
(D)

It is interesting that
floating docks and even

No error

te areas

in accessibility to hospitals

ships can be made of concreat

29

180.

(A) Make a list of foods that contain

(B) harmful
(C) chemicals
(D) No error

Direction (181-185) : In the following questions, choose
the word from four alternatives which is most nearly

opposite in meaning to the given word :

181. Spiritual

(A) Earthly
(C) Material
182. Harmony

(A) Agreement
(C) Confusion
183. Compulsion
(A) Constraint
(C) Freedom
184. Waste

(A) Gain
(C) Nourish
185. Successor
(A) Follower
(C) Guide

(B) Superior
(D) Disccord

(B) Melody
(D) Discord

(B) Choice
(D) Spontaneity

(B) Profit
(D) Loss

(B) Prodecessor
(D) Professor

Direction (186-190) : In the following questions. Out of
four alternatives, choose the one which best

expresses the meaning of the given word as your

answer:
186. Honest

(A) Authentic
(C) Direct
187. Vocation

(A) Examination
(C) Occupation

188. Ingenuous
(A) Innocent
(C) Cunning

(B) Upright
(D) Actual

(B) Seminar
(D) Holiday

(B) Artful

(D) Clever
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189. Innocuous
(A) Careless
(C) Insufficient

190. Insolent
(A) Disrespectful
(C) depreciating

(B) Harmless
(D) Irresponssible

(B) Insoluble
(D) the sole of a shoe

195. The conference takes place once in three years?

(A) Tetraenning
(C) Treennial

(B) Triennial
(D) Thriennial

Direction (196-200) : In the following questions, groups

of four words are given. In each group one word is

correctly spelt. Find the correctly spelt word :

Direction (191-195) : In the following questions, out of
the four alternatives, choose the one which can be
substituted for the given words/sentence

191. A person who readily believes others :

196.
(A) Variety
(C) Gaitey

(B) Anxdety
(D) Sodety

197.

(A) Credible
(C) Sensitive

192.
trusted :
(A) isnotorious

(B) Credulous
(D) Sensible

The political leader has an evil reputation. He is not

(B) ismalicious

(C) ismagnanimous (D) isdubious

193.
(A) Samaritan

(C) Philanthropist

194.
(A) Sericulture
(C) Sariculture

A person who helps even a stranger in difficulty :

(B) Altruist
(D) Beneficiary

The production of raw silk :

(B) Seroculture
(D) Syrumculture

(A) Coersion
(C) Negociation

198.
(A) Harrassment
(C) Breevement

199.
(A) Inefable
(C) Infallible

200.
(A) Expact
(C) Exite

(B) Precision
(D) Explation

(B) Commitment
(D) Temparament

(B) Inaecesible
(D) Invinsieble

(B) Impact
(D) Imped

3t st st s s s sk sk ok sk sk sk sk s sk sk sk sk sk sk sk sk s sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk s sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk st sk sk sk sk sk ok ke sk sk skeoskoskoskoskok koo
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